Problem 1: Find the transfer function of the circuit.
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Problem 2: Given H(w) = TTier T where 1, > 7,,please draw the Bode plot
1 1+jowr,

(only magnitude) of the transfer function.
Extra credit: Try to design a circuit having such a transfer function.
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Problem 3: GivenR=5Q, C= 2 mF, ® = 100 rad/s. Find the impedance of Z so as
to maximize the power transfer.

v (t)=v, cos(wt)
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Problem 4: Find V,;, and R, and draw the Thevenin equivalent circuit for the

following circuit.
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Problem 5: Given the transfer function H(w) of a system,
if the inputis 7, (¢) = Re(zanejw”t)

n

then the output can be expressed as ¥, (f) = Re ZanH (a)n)ej Ot

n

where H(w)=|H(w)|e/*®

Now, for a system, the Bode plot of its transfer function is illustrated in
the next page, and a)or 1

If the input voltage is V,,(¢) = Re(lV e/ L1y ef%t)

Find the output voltage for the following cases:
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